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L E
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8 ( ) X -
9 ( ) X -
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JPI-7R-35-2013 | Par s V=120 7 H
2. MHOFEE (HBERICRT 205 1) (E#RZ)
2.1 % 2 & 1 + 7+ a3 No. 1 2
HEmE Y OE S m 10. 000~8. 000[8. 000~6. 000
55 A4 k44 SM400B $5400
& & B 7 Ph MPa 0. 190 0. 000
e K P1 MPa 0. 000 0. 000
R IRE C 80 100
R I Di mm 1200 1200
i B = t mm 9.0 9.0
B LA o mm 2.0 2.0
MRS (i) Dm mm 1211.0 1211.0
M #ER D5 D 1/218 4 degree 0 0
RS 0 0.95 0.95
E R EH O W N 7630 42835
HEIZCIARRE—A B M N-m 1850 10888
fRirE— X b Me N-m 0 0
" PG RIG ) Sca N/mm” 100 100
o SRR & Sua N/mm’ 400 400
B REOR AR LT Sya N/mm® 245 245
MEELREL Fa N/mm? 203000 203000
= R SIRIGT) Sc N/mm? 100 100
&t 5| iEIR X Su N/mm? 400 400
i NS A= E ) Sy N/mm? 228. 2 221
B e R E N/’ 199200 198000
2.2 FF OB & N
PR 5 R ) FSt (N/mm®)
Ss = 0.6Sua or 0.6Su or 0.9Sya or 0.9SyD &/ |ME 205. 3 198.9
FSt = Ssn 195. 0 188.9
FEHFFAR G RIG FLt (N/mm?)
SL = Sca or ScDix/M# 100.0 100.0
FLt = SLp 95. 0 95. 0
PR RIS ) FSc (N/mm?) E' =Ea or E, Sy =Sya or Sy
Ss” = 0.6 ' (t-«)/(1+0. 004 XE’ /Sy’ ) Dm 153. 8 149. 8
FSc = Ss or Ss’ Mf/IMH 153. 8 149. 8
EHIRF A MG ST FLc (N/mm?) F’=Ea or E, Sy =Sya or Sy
SL” = 0.3 E (t—«)/(1+0.004XE /Sy’ )Dm 76. 9 74.9
FLc = SL or SL’ D &/IME 76.9 74.9
2.3 HNEIYYAE (N/mm)
e ah = Ph - Dm/4 57.6 0
AR ) al =Pl -Dn/4 0.0 0.0
TR L b = W/ 7 Dm 2.1 11.3
B RE-HV/b ¢ = 4000M/ 7 Dm® 1.7 9.5
fCaE—Av b d = 4000Me/ 7 Dm® 0.0 0.0
2.4 A 515E L OVEMEIS ) DOFE &CHE (N/mm?)
wEHSIEIS S| 8.2 0.3
< 195.0 < 188.9
ot = (ah-btc+d)/(t-a) * (1/cosh) < FSt oK oK
E#nEGL | 8.0 1.7
o t’ = (ah-btd)/(t—a) * (I/cos) = FLt = 9.0 = 95.0
OK! OK!
mERS S| 0.6 3.0
< 153.8 < 149.8
oc = (-al+b+c+d)/(t-a) * (1/cosh) = FSc oK oKl
EWEmS | 0.3 1.7
oc = (-al+b+d)/(t—-a) * (1/cos0) = FLc = 76.9 = 749
OK! OK!
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. ZXP9 B ORGSR (B IR AT T BB 9 FH)
ﬂﬁi‘%ﬁ*ﬂgl: I G Vo = 34 m/sec
7b = 5 Fds DR & (BEAKT. L. [HRERE) H1 = 4.000 m
7o = 450 EFm~EmE TOES 5.000 m
a= 0.2 HIE 70 0 $5 2 5 SO B s & H2 = 10.000 m
B o EOo EH M
Yy a L& 1 2 /
2 5 O LD O R I D O S Z m 9.155 6. 846 /
A ek RIE S D) L mm 2309 2309 /
LT Y 2 TR L1 | mm | 11545 | 845.5 /
BEERZ T Lw%ﬁ**?%ﬁ%ﬁ L2 mm 4154.5 1845. 5
AR N R Di mm 1200 1200
LR E t mm 9 9 /
R E s T [ m 0 0 7
R S h 282 5 Ho 4R B m 1.218 1.218 | /
% HEICERH T A Y E D m 1.518 1.518
. H2 <7Zb DOEE 1.0 -
7b < H2 7=<7b : (Zb/H2)*“ | kz -
| 5| PHEE 7b<7 : (7/H2)%* 0. 9653
- |m /Bl - 3. 2841 3. 2841
% [HI/B =1 0BA 0. Tkz
g LS HI/B < 8 RiinHEs LE AR Cs — 0. 739 0. 739
8 =< H1/B OHFAL 0. 9kz
A % A n’ 3. 505 3. 505
THEEOR S S | 1257b 0BG = 1.7@h/2) " | _ -
I Zh<H2 Dt = 1.7H2/7) ° 3 0. 7940
il P B RH O (FROAICLD) Ge — 2.500
B D S 4y i AR B = Er® - Gf E - 1.576
wOE e = 0.6E-Vo® N/m’ 1093
5 £v s va iR = q-Cf-A Fw N 2830 2830
Ji\e EE O A F > Fw N 2830 5660
BMEIC L DEEEE— A M (B a TS| Mw N-m 3267 11321
IS & D EREE— A o b GERET) Mw,, N-m 16981
7R HEC LY (1) B&hEREMWIE A = DL T
R B EAD D= 1.2xB Xi% 0.3+B OWWFhokEWHET 5,
— B
) (2) 7b, 76, a OHIEEHLLE K 3TIE U7 fif
*é*gﬁz@ o ) | Z () o
[ 5 250 0.10
- I 5 350 0.15
‘ il 5 450 0.20
y v 10 550 0.27
’ % (3) GFOHZE EHLE K3 U7 fil
’ SRS . *é*ﬂglzﬁiﬁ H2=10m |10m<H2<40m| 40m=H2
e I 2.0 1.8
1T 2.2 Fe 4 R 2.0
i 2.5 L 75l 2.1
— I\ 3.1 2.3
(4) XMw= Mw(n-D+ X Fwn-1) -Ln+Fwn-Ln/2




JPI-7R-35-2013 | s V=120 10 =
2. Ao (A% 28 F1kET) (E#RZ)
2.1 & i & 27 a3 No. 1 2
HEmE Y OE S m 10. 000~8. 000[8. 000~6. 000
55 A4 k44 SM400B $5400
& & B 7 Ph MPa 0. 190 0. 000
e K 7 P1 MPa 0. 000 0. 000
R IRE C 80 100
R I Di mm 1200 1200
ER == t mm 9.0 9.0
B LA o mm 2.0 2.0
fESERIRE (R tk) Dm mm 1211.0 1211.0
M #ER D5 D 1/218 4 degree 0 0
w8 0 0.95 0.95
E fR E O W N 7630 42835
Bz LD RE—A b Mw N-m 3267 11321
fRirE— XA b Me N-m 0 0
" R SIRIGT) Sca N/mm? 100 100
o SRR S Sua N/mm’ 400 400
W REOR AR LT Sya N/mm® 245 245
MEELREL Fa N/mm? 203000 203000
i R SIRIGT) Sc N/mm? 100 100
7t FlETR X Su N/mn’ 400 400
! BRI 77 Sy N/mm? 228. 2 221
B HERIELR B B N/mn? 199200 198000
2.2 FF OB & N
PR 5 R ) FSt (N/mm®)
Ss = 0.6Sua or 0.6Su or 0.9Sya or 0.9SydD K/ ME 205. 3 198. 9
FSt = Ss 7 195. 0 188. 9
FEHFFAR S RIG FLt (N/mm?)
SL = Sca or ScDix/M# 100.0 100.0
FLt = SLy 95. 0 95. 0
WA MR FSc (N/mm?) E’ =Fa or E, Sy =Sya or Sy
Ss” = 0.6 ' (t-«)/(1+0. 004 XE’ /Sy’ ) Dm 153. 8 149. 8
FSc = Ss or Ss’ Dix/IMHE 153. 8 149. 8
EHIRF A MG ST FLc (N/mm?) F'=Ea or E, Sy =Sya or Sy
SL” = 0.3 E (t—«)/(1+0.004XE /Sy’ )Dm 76.9 74.9
FLc = SL or SL’ D &/IME 76.9 74.9
2.3 HNEIYYAIE (N/mm)
e ah = Ph - Dm/4 57.6 0
AR ) al =Pl -Dn/4 0.0 0.0
TR L b = W/ 7 Dm 2.1 11.3
B RE-HV/b ¢ = 4000Mw/ 7 Dm® 2.9 9.9
fCaE—Av b d = 4000Me/ 7 Dm® 0.0 0.0
2.4 A 5I5E L OVEMEIS ) DFE &CHE (N/mm?)
wEHSIEIS S| 8.4 0.2
ot = (ah-btc+d)/(t-a) * (1/cosh) = FSt = 195.0 = 188.9
OK! OK!
EMslEEs | 8.0 1.7
ot = (ah-btd)/(t-a) - (I/cosf) = FLt = 95.0 = 95.0
OK! OK!
wHERS S| 0.8 3.1
oc = (alt+btctd)/(t-a) * (1/cos0) = FSc = 153.8 = 149.8
OK! OK!
EWEfmS S | 0.3 1.7
oc = (-al+b+d)/(t—-a) * (1/cosB) = FLc = 76.9 = 749
OK! OK!
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